Chapter 11

Answers –HKAS 38 Intangible Assets

(I)
Multiple Choice Questions

	1.
	C
	


	2.
	D
	


	3.
	D
	


	4.
	B
	See the HKAS 38 rules for recognizing intangible assets. See also the HKAS 1: an asset can be recognised only if it can be measured reliably at a monetary amount.


	5.
	A
	


	6.
	A
	


	7.
	B
	


	8.
	D
	


	9.
	C
	


(II)
Review Problems
1.
(a)

Purchased intangible assets may be capitalised provided:

(i)
it is probable that future economic benefits from them will flow to the enterprise; and

(ii)
they can be reliably measured (at fair value assessed by reference to replacement cost or market value).

It would be expected that there is an active market for the items concerned, in order that fair values may be determined. Non-purchased intangible assets may be recognised provided that there is a readily ascertainable market value, for example, franchises. Non-purchased goodwill is not to be recognised.

Brand name are unlikely to be traded on an active market and are thus unlikely to be capitalized. In fact, HKAS 38 specifically states that internally generated brands, mastheads, publishing titles and items similar in substance should not be capitalized.

(b)

The amortization treatments required by HKAS 38 are as follows.

(i)
An asset with a finite useful life must be amortised on a systematic basis over that life. The amortisation method used should reflect the pattern in which the asset’s economic benefits are consumed. If that pattern cannot be determined reliably, the straight-line method should be adopted. The amortisation charge should be recognized as an expense unless another HKAS or requires it to be included in the carrying amount of another asset. Normally the straight-line method with a zero residual value should be used.
(ii)
An asset with an indefinite useful life is not amortised. Instead an annual impairment review must be carried out to compare the carrying amount with the recoverable amount.

2.
(a)

HKAS 38 distinguishes between the activities of research and development. Research is original and planned investigation undertaken with the prospect of gaining new scientific or technical knowledge and understanding. Development is the application of research findings or other knowledge to a plan or design for the production of new or substantially improved materials, devices, products, processes, systems or services prior to the commencement of commercial production or use.

Expenditure on research does not relate to one accounting period more than another, but is part of a continuing operation to maintain a company’s business or market position. It is therefore appropriate to write off such expenditure in the year in which it is incurred.

Expenditure on development, however, will, if successful, lead to increased revenue or reduced costs once the new products or processes are launched. It appears reasonable that such costs should be carried forward and matched with the related revenue or savings.

HKAS 38 lays down strict criteria to determine when carry forward is permissible.

(i)
The expenditure attributable to the intangible asset during its development must be measurable.

(iii)
The technical feasibility of completing the product or process so that it will be available for sale can be demonstrated.

(iii)
The enterprise intends to complete the intangible asset and use or sell it.

(iv)
It must be able to use or sell the intangible asset.

(v)
There must be a market for the output of the intangible asset or, if it is to be used internally rather than sold,  its usefulness to the enterprise, can be demonstrated.

(vi)
Adequate technical, financial and other resources must exist, or their availability must be demonstrated, to complete the development and use or sell the intangible asset.

(b)

HKAS 1 has three basic accounting assumption: going concern, accruals and consistency.

Each of these concepts is relevant in considering the criteria discussed above for carrying forward development expenditure.

Going concern. The business must be in a position to continue its operations at least to the extent of generating resources sufficient to complete the development project and therefore to market the end product.

Accruals. The purpose of deferring development expenditure at all is to comply with the accruals concept by matching such expenditure with the income expected to arise from it.

Consistency. HKAS 38 states that the criteria for deferral of expenditure should be consistently applied.

3.
(a)
In accordance with HKAS 38, research cost should be recognized as an expense in the period in which they are incurred and should not be recognized as an asset in a subsequent period.

(b)
In accordance with HKAS 38, the development costs of a project should be recognized as an expense in the period in which they are incurred unless all the criteria for asset recognition identified in the standard are met. Development costs initially recognized as an expense should not be recognized as an asset in a subsequent period.

The amount of development costs recognized as an asset should be amortised and recognized as an expense on a systematic basis so as to reflect the pattern in which the related economic benefits are recognized.

(c)
In accordance with HKAS 38, development costs of a project should be recognized as an asset when all of the following criteria are met:

(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits

(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.
The development costs of a project recognized as an asset should not exceed the amount that, taken together with further development costs, related production costs, and selling and administrative costs directly incurred in marketing the product, is probable of being recovered from related future economic benefits.

(d)
Project A:

The research on recovery rate is primary investigation undertaken with the prospect of gaining new scientific or technical knowledge and should therefore be recognized as an expense in the period in which it is incurred.

Project B and D:

The two projects fulfilled the criteria for asset recognition identified in HKAS 38 and should therefore be recognized as an asset.

Amounts to be capitalized for projects B and D in the year ended 30 September 1999 were:

	
	B
	D

	
	HK$
	HK$

	Materials and wages
	400,000
	200,000

	Salary of R&D director
	30,000
	20,000

	Depreciation on plant and machinery used specifically for each project
	50,000
	14,000

	
	480,000
	234,000


Project C:

This project is carried out on behalf of a third party and the costs incurred should be treated as WIP with the cost calculated as follows:

	
	
	HK$

	Materials and wages
	
	180,000

	Salary of R&D director
	
	24,000

	Depreciation on plant and machinery used specifically for the project
	6,000

	
	
	210,000

	
	
	

	Restricted to cost recoverable
	
	200,000


4.
(a)(i)

Goodwill arising on acquisition (or goodwill) is the excess of the cost of the acquisition over the acquirer’s interest in the fair values of the identifiable assets and liabilities acquired at the date of acquisition.

Goodwill should be recognized as an asset and carried at cost less any accumulated impairment losses and should not be amortised.  HKFRS 3 “Business Combinations” requires that positive purchased goodwill must be tested annually impairment, and written down as necessary in accordance with HKAS 36 “Impairment of Assets”.

(a)(ii)

Negative goodwill arises when the fair value of the net assets acquired exceeds the fair value of the consideration paid. This for many people is an unusual concept to grasp as it appears that the selling company (or its shareholders) is accepting, presumably at arms length, an amount of consideration that is less than the company’s underlying net assets are individually worth. If this is the case the acquiring company has purchased the business cheaply. This can happen for several reasons:

(i)
the vendor may be in a poor bargaining position, or makes an error in valuing the business it is selling.

(ii)
the share price may be depressed because of a poor profit record (or in expectation of future losses) and the offer price seems reasonable in comparison to this.

(iii)
the assets may be of high value (perhaps if put to a different use), but this is not reflected in the acquisition price.

Before negative goodwill is recognised, the fair value of the net assets acquired should be reviewed to ensure that they have not been overstated. Once this check has been carried out, any remaining negative goodwill should be recognised immediately in the income statement.
(b)

	
	
	$000

	Purchase consideration
	
	8,000

	Less: Net worth of A Limited $(3,000,000 + 10,000,000 + 5,000,000 – 9,600,000) x 60%
	
	(5,040)

	Goodwill
	
	2,960


5.
(a)

According to HKAS 38, an asset meets the identifiability criterion of an intangible asset when it is capable of being separated from the entity and sold, transferred, licensed, rent or exchanged; or arises from contractual or other legal rights, regardless of whether those rights are transferable or separable from the entity or from other rights and obligations.

An entity is regarded as having the ability to control an asset if the entity has the power to obtain the future economic benefits flowing from the underlying resource and to restrict the access of others to those benefits.

The future economic benefits that are derived from an intangible asset and that flow into an entity may include revenue or benefits resulting from the sale or use of the asset, as well as the savings in costs of production or other costs.

(b)

Examples of research activities are:

· The search for alternatives to materials and devices used in the manufacturing process.

· The formulation, design, evaluation and final selection of possible new devices.

· The search for, evaluation and final selection of, applications of research findings or other knowledge.

[Any two points, 1 mark each, maximum 2 marks]

In accordance with HKAS 38, expenditure on research shall be recognized as an expense when it is incurred and no intangible asset arising from research shall be recognized.

(c)

The cost incurred for a development project, in accordance with HKAS 38, shall be capitalized as an intangible asset if, and only if, an entity can demonstrate:

(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits

(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.
(d)

Project  W100 is a research project and the whole amount of $464,000 shall be charged to profit and loss as an expense in accordance with the requirements of HKAS 38.

Project X200 is a project for developing a new device and is able to meet the recognition criterion as an intangible asset under HKAS 38 (see answer in part (c) above) and; therefore, the whole amount of the development project $768,000 shall be capitalized and grouped under the heading of intangible assets.

Since there is a contract between Beauty Limited and Skincare Limited, the amount of project Y300 to be capitalized shall be limited to the amount that can be recovered from the contract revenue, that is, $300,000. The amount of loss on this development project, that is $36,000, shall be charged to profit and loss.

Since there is no future economic benefit from development project Z400, the whole amount incurred for this project, that is $374,400, shall be charged to profit and loss.

Skincare Limited

Extract of statement of financial position as at 30 September 2005

	Non-current assets
	

	Intangible assets
	

	Deferred development expenditure ($768,000 + $300,000
	$1,068,000


Skincare Limited

Extract of income statement for the year endeed 30 September 2005

	Other expenses
	

	Research and development costs written off

$(464,000 + 36,000 + 374,400)
	$874,400


6.
(a)

In accordance with HKAS 38, an intangible asset is an identifiable non-monetary asset without physical substance. The distinct characteristics of an intangible asset are:

(i)
Identifiability:

An asset meets the identifiability criterion in the definition of an intangible asset when:

· It is separable, which means that it is capable of being separated or divided from the entity and sold, transferred, rented or exchanged, either individually or together with a related contract, asset or liability; or

· It arises from contractual or other legal rights, regardless of whether those rights are transferable or separable from the entity or from other rights and obligations.

(ii)
Control:

An entity has the ability and capacity to control an asset when:

· The entity has the power to obtain the future economic benefits flowing from the underlying resource; and

· The entity has the ability to restrict the access of others to those benefits from the asset.

(iii)
Future economic benefits:

The future economic benefits flowing from an intangible asset may include revenue from the sale of products or services, cost savings, or other benefits resulting from the use of the asset by the entity.

An entity’s capacity to control the future economic benefits from an intangible asset obtains from legal rights that are enforceable in a court of law.

(b)(i)

The patent falls in the definition of intangible assets in accordance with HKAS 38 as it is an identifiable non-monetary asset without physical substance; also Research Limited can control the future economic benefits generated from it and can restrict the access of others to the benefits generated from the patent. As a result, Research Limited should recognize the patent as an intangible asset at the time of obtaining control of the future economic benefits generated from this asset.

Under HKAS 38, the carrying amount of the patent should be measured in the statement of financial position after deducting any accumulated amortisation and accumulated impairment losses thereon. Fair value of an asset is the amount for which that asset could be exchanged between knowledgeable, willing parties in an arm’s length transaction. It is estimated by the specialist patent valuer that the fair value of the patent is $30 million at 1 July 2005. Since the useful life of the patent is 10 years at 1 July 2005 and there is no impairment of it for the year to 30 June 2006, the value of $27 million (fair value at 1 July 2005 $30 million – amortisation for the year $30 million/10 years – impairment $0) should be included in the statement of financial position at 30 June 2006.

(b)(ii)

Examples of research activities, given in HKAS 38, involve obtaining new knowledge; formulating, designing and evaluating, searching and selecting alternatives for materials, devices, products, processes, systems or services as well as the applications of research findings or other knowledge. Clearly, the activities related to the formulation, design, evaluation and final selection of possible alternatives for drugs, carried out by Research Limited, should fall in the category of research activities.

To assess whether an internally generated intangible asset meets the criteria for recognition, an entity classifies the generation of the asset into a research phase and a development phase. HKAS 38 explicitly states that no intangible asset arising from research shall be recognized and expenditure on research shall be recognized as an expense when it is incurred because, in the research phase of an internal project, an entity cannot demonstrate that an intangible asset exists that will generate probable future economic benefits. Therefore, the costs of $3 million should be charged to the profit and loss account in the year in which the expenses were incurred.

(b)(iii)

Examples of development activities, given in HKAS 38, involve the design, construction and testing of pre-production or pre-use prototypes and models or a chosen alternative for new or improved materials, devices, products, processes, systems or services; and the design of tools, moulds and dies involving new technology and a pilot plant that is not of a scale economically feasible for commercial production. In this connection, activities on the design, construction and testing of pre-production for a chosen new product, carried out by Research Limited, should be within the scope of development activities.

HKAS 38 specifies that the cost of an internally generated intangible asset comprises all directly attributable costs necessary to create, produce, and prepare the asset to be capable of operating in the manner intended by management. In the case of Research Limited, the directly attributable costs of the development phase of the project include:

· Cost of materials and services used or consumed in the development of $20 million;

· Staff costs for the development of $16 million;

· Fees to register a legal right of $1 million; and

· Amortisation of patents that are used to generate the new drug in year of $3 million.

In accordance with HKAS 38, the costs arising from the development phase of an internal project shall be capitalized if, and only if, an entity can demonstrate all of the following:

(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits

(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.
In this case, there are doubts surrounding the results of testing on human being. Therefore the costs arising from this development project should not be capitalized and, rather, the whole amount should be recognized as expenses in the year in which the expenses are incurred.

7.
(a)

Development of a new drug:

The new drug is an internally developed intangible asset. Internally generated intangibles can only be recognized if they meet the criteria of capitalization of internally generated intangibles, specified in HKAS 38. Based on the information given in the question, Blue Limited has the ability to complete the product for intended use and to measure reliably the expenditure attributable to the intangible assets of $10 million. Moreover, the success of sales in certain markets proves that the intangible asset will generate probable future economic benefits. The development expenditure of $10 million can be recognized as an intangible asset, namely deferred development expenditure.

Regarding the measurement after initial recognition, HKAS 38 states that an entity can choose either the cost model or the revaluation model as its accounting policy. HKAS 38 specifies that, if an intangible asset cannot be revalued because there is no active market for this, then the intangible asset should be carried at its cost rather than at revalued amount. The drug patents are unique even if there are similar types of drugs in market; therefore it is unlikely to have an active market in this specific case. Therefore the drug would be recorded at its development cost of $10 million, rather than at the market value of $16 million.

According to HKAS 38, the depreciable amount of an intangible asset with a finite useful life shall be allocated on a systematic basis over its useful life and amortisation shall begin when the asset is available for the intended use. In particular, the asset is available for the intended use when it is in the location and condition necessary for it to be capable of operating in the manner intended by management. In this case, the sale of the new drug has already started in March of 2007; therefore, the asset is in the condition necessary for the intended use. Amortisation should begin in the current year based on the carrying amount of $10 million.

(b)

Staff training costs:

HKAS 38 states that the recognition of an item as an intangible asset requires an entity to demonstrate that the item meets the definition and the recognition criteria of an intangible asset. The definition of an intangible asset involves the distinct features of its identifiability (that is, capable of being separated from the entity) and its ability to control the future economic benefits from the company’s underlying resources.

Identifiability

If resources had been used on a tangible non-current asset resulting in similar benefits; they would be eligible for capitalization in terms of identifiability and the availability of future economic benefits. Blue Limited has a team of skilled staff and there is an enhancement of revenues and a reduction in costs; thus, this may be an indication that the company is able to identify incremental staff skills leading to future economic benefits from training.

Control on future economic benefits

An entity controls an asset if it has the power to obtain the future economic benefits flowing from the underlying resource and to restrict the access of others to those benefits. A skilled workforce is of great benefit to a company. Blue Limited, of course, would like the staff to continue to make their skills available to the entity. In the absence of legal rights, it is more difficult to demonstrate the capacity of Blue Limited to control the future economic benefits from an intangible asset, the future economic benefits from staff training in this case. As a result, Blue Limited’s ability to control the access of future benefits from training its staff is doubtful. The main reason is that, in this case the company cannot claim to control the employees, as it is quite possible that employees may leave Blue Limited and work elsewhere.

8.
(a)

In accordance with HKAS 38 “Intangible Assets”, an intangible asset is defined as an identifiable non-monetary asset without physical substance. [1 mark]
The recognition criteria of an item of an intangible asset are:

(i)
the cost of the asset can be measured reliably; [1 mark] and

(ii)
it is probable that the expected future economic benefits that are attributable to the asset will flow to the entity. [1 mark] An entity shall:

· Assess the probability of expected future economic benefits using assumptions that represent management’s best estimate of the economic conditions that exist over the useful life of the asset. [1 mark]
· Use judgement to assess the degree of certainty attached to the flow of future economic benefits, that are attributable to the use of the asset, based on the evidence available. [1 mark]
(b)

The carrying amount of “patent” that would appear in the statement of financial position of Scientific Limited as at 31 December 2007 is:

	
	$
	Marks
	Explanatory notes

	Cost, at 1/1/04
	6,102,000
	1
	(1)

	Amortisation for the year to 31/12/04

($6,102,000 / 9 years)
	678,000
	1
	(2)

	Carrying amount at 31/12/04
	5,424,000
	
	

	Revaluation at 1/1/05
	2,500,000
	1
	(3)

	Carrying amount at 1/1/05
	7,924,000
	
	

	Amortisation for 3 years to 31/12/07

($7,924,000 / 8 years x 3)
	2,971,500
	2
	(2)

	
	4,952,500
	
	

	Impairment
	500,000
	1
	(4)

	Carrying amount at 31/12/07
	4,452,500
	
	(4)


Explanatory notes:

(1)
The patent falls in the definition of intangible assets in accordance with HKAS 38 as it is an identifiable non-monetary asset without physical substance that Scientific Limited can control and can restrict the assess of others to the future economic benefits generated from it. [2 marks] As a result, Scientific Limited should recongise the patent as an intangible asset at the time of obtaining control of the future economic benefits generated from this asset; that is 1 January 2004. [1 mark]
An intangible asset shall be measured initially at cost. [1 mark] The cost of a separately acquired intangible asset, such as patent, comprises its purchase price and any directly attributable cost of preparing the asset for its intended use. These involve the purchase price, fees payable to government agency and legal fees in this case. [2 marks]
(2)
HKAS 38 states that the depreciable amount of an intangible asset with a finite useful life shall be allocated on a systematic basis over its useful life and amortization shall begin when the asset is available for the intended use. [2 marks] In this case, the patent is for the purpose of completing the development project and the project had been started before the acquisition of the patent; as a result, the patent should start the amortization from year of acquisition (that is, year to 31 December 2004). [2 marks] The amortization method used shall reflect the pattern in which the asset’s future economic benefits are expected to be consumed by the entity except that the pattern cannot be determined reliably, then straight-line method shall be used. Thus, straight-line method is used for the amortization of patents. [2 marks]
(3)
Since it is the policy of Scientific Limited that an intangible asset is to be carried at a revalued amount, the revaluation model is applied after initial recognition. [1 mark] Based on the requirements of HKAS 38, the patent shall be carried at a revalued amount, being its fair value at the date of the revaluation less any subsequent accumulated amortization and any subsequent accumulated impairment losses. [2 marks] HKAS 38 states that fair value of an asset is the amount for which that asset could be exchanged between knowledgeable, willing parties in an arm’s length transaction. [1 mark] Since there may not be an active market for the patent in this case, value of the patent estimated by the specialist patent valuer should be considered as a fair value of it. [1 mark]
(4)
Under HKAS 38, the carrying amount of the patent should be included in the statement of financial position after deducting any accumulated amortization and accumulated impairment losses thereon. [1 mark] An impairment loss is defined by HKAS 36 as the amount by which the carrying amount of an asset or a cash-generating unit (CGU) exceeds its  recoverable amount. [1 mark] The recoverable amount of an asset or a CGU is the higher of its fair value less costs to sell and its value in use. [1 mark] Since the patent is used for completing the research project rather than for sale, value in use is an appropriate method to account for the recoverable amount of the asset. [2 marks] HKAS 36 defines value in use as the present value of the future cash flows expected to be derived from an asset or CGU. [1 mark] When measuring value in use, Scientific Limited shall rely on cash flow projections with reasonable and supportable assumptions that represent management’s best estimate of the range of economic conditions that will exist over the remaining useful life of the patent.

(Maximum: 14 marks for the explanatory notes)
9.
(a)

The amount of $500,000 for new equipment should be capitalised and depreciated over the equipment’s useful life. This equipment is deemed to have uses beyond merely software development for Lee Technology, so it would not be appropriate to expense the equipment immediately. The amount of $250,000 for “special and unique” software is more difficult to categorise, because if in fact it has no other purpose other than to assist in the software development task it rightly should be expensed, as the project is designed for completion within one year. It might be prudent to treat this cost similarly to prepaid expenses such as insurance, and adjust the remaining value at the financial statement date for the portion of the one-year project remaining. On the other hand, if it is possible to find an alternative use for it, or if the software could be sold to another party, the cost should be capitalised and amortised. The amount of $50,000 per month for software developer’s salaries is most likely an expense. However, if the Lee Technology Company wanted to claim that this amount was an asset, it could do so provided that it believed that the success of the software project was reasonably assured. This is not always a prudent assumption, as the computer industry changes frequently and success is by no means guaranteed. Therefore, it would be possible to either expense the salaries immediately, or categorise them as a deferred asset and match them against the project’s future revenues. If the project is deemed to have failed, these costs would then be immediately expensed. If the project succeeds, then the costs should be amortised over a reasonable period.
(b)

The answer to part (b) is very close to the answer for part (a). In this case, the computers and software are both subject to potential loss in value if the project is not continued. Since the project should be completed in less than one year, the computer cost should be expensed in a similar manner to “special and unique” software that might have no other purpose. Again, if it is possible that the software has an another use, it can be amortised over its estimated life. But if both the software and the computers are truly unique to the project, they should be expensed. The salaries again are probably an expense unless they can be assigned to a deferred asset, and then amortised, provided, as it states in HKAS 38, that “it is probable that the future economic benefits that are attributable to the asset will flow to the enterprise.” This involves a matter of judgment on the part of the accountant as to whether it is “probable” that there will be future economic benefits.
(c)

The difference between the value of the assets of $9 million and the offering price of $10 million represents goodwill. Goodwill is an intangible asset which can only be established by purchasing assets for a price greater than their respective market values. Under HKFRS 3, goodwill is carried at cost less accumulated impairment losses. The $1 million excess of purchase price over market value is recorded as a gain on sale of assets by the Lee Technology Company. There is not enough information in the question to ascertain precisely the amount of the gain, as “market value” is referred to and not book value. Because of the historical cost convention, the book values of the assets are recorded at their original purchase price, minus any depreciation incurred. Therefore the gain or loss on the sale will probably be different from the $1 million that is represented by goodwill.
10.
The costs should be dealt with as follows:

(i)
R&D costs incurred in 2000, amounting to $1,600,000 should be expensed.

(ii)
Personnel and legal costs incurred in 2001, amounted to 280,000, would be capitalized as patents.

(iii)
Legal costs of $240,000 incurred in 2002 to defend the enterprise in a patent lawsuit should be expensed.

 11.
The accounting standard which applies to franchises is HKAS 38 “Intangible Assets”. With the adoption of HKAS 38, an intangible asset is identified as an identifiable non-monetary asset without physical substance held for use in the production or supply of goods or service, for rental to others, or for administrative purposes. In addition, an intangible asset should be capitalized and recognized as an asset on the statement of financial position if the following criterion are met:

(i)
It meets the definition of an intangible asset;

(ii)
It is probable that the future economic benefits that are attributable to the asset will flow to the enterprise; and

(iii)
It is capable of being reliably measured.

In addition, all intangible assets are required to be amortised over their estimated useful life. Amortisation should commence from the date the asset is available for use. An intangible asset with an indefinite useful life is not amortised. Instead an annual impairment review must be carried out to compare the carrying amount with the recoverable amount.

In the case of GTHK, the franchising right acquired fulfills the definition of an intangible asset and thus should be capitalized for the following reasons:

(i)
GTHK was granted the legal right to sell the products bearing the brand name of Garment Italy in Hong Kong (i.e. a resource controlled by GTHK as a result of past event).

(ii)
It is expected that future economic benefits will flow to GTHK given the fact that the sale of products using this franchised brand name has been so successful.

(iii)
The franchise fee is identifiable, non-monetary and without physical substance as it represents a separable and distinct right to sell products under a particular brand name.

Therefore, the amount paid for the franchise should be capitalized (instead of expensed against the income statement) and be amortised over its useful life.

The amortisation method used should reflect the pattern in which the asset’s economic benefits are consumed by the enterprise. GTHK should thus consider an appropriate basis for the amortization, such as using the total estimated sales volume. If such pattern or basis cannot be determined reliably, the straight-line method should be used. Given the fact that the franchising period is 5 years, it is reasonable to estimate its useful life to be 5 years if straight-line basis is adopted.

The amortization period and the amortising method should be reviewed at least at each financial year end. If the expected useful life of the asset is significantly different from previous estimates, the amortization period should be changed accordingly.

However, with the introduction of HKAS 36 “Impairment of Assets”, Amy Wong should also assess whether any indications exist that indicate any asset (including the intangible franchise fee above) is impaired. If any such indication exists, GTHK should estimate the recoverable amounts of such an asset. An impairment loss should be recognized in the income statement immediately.

12.
SONG AND DANCE

MEMO

To:
Financial director

From:
Accountant

Date:
31.1.2004

Subject:
Capitalising assets

Motor vehicle

(a)
Under HKAS 16, the motor vehicle can be capitalized as a benefit will arise from it and the cost can be measured reliably.

(b)
The capitalized cost should be the total amount of the cost to the company; in this case $45,000.

(c)
As it is the intention to keep the car for three years, this is its useful economic life to the company.

(d)
The residual value should be what the expected sale price will be in three years’ time. As there is an active market, this should be estimated at $20,000.

(e)
From the information given, it appears as though the motor vehicle will lose more of its value in the first year than second year, which in turn will be more than in the third year. Hence the most appropriate method would be the sum of digits method which would result in the following.

	
	Depreciation
	Accumulated depreciation
	NBV

	
	$
	$
	$

	Year ended 31.12.03
	3/6 x 25,000 = 12,500
	12,500
	32,500

	Year ended 31.12.04
	2/6 x 25,000 = 8,333
	20,833
	24,167

	Year ended 31.12.05
	1/6 x 25,000 = 4,167
	25,000
	20,000


As can be seen, this method has the advantages of having the NPV approximate to the estimated market value at the end of each year.

Training

HKAS 38 specifically states that training costs are recognized as an expense as occurred and cannot be capitalized as an intangible asset. In order to be an intangible asset the expenditure must be identifiable, the resource must be under control, and it must lead to a future economic benefit. Training expenditure does not meet all three criteria and is an ongoing expenditure of the business as a whole. In particular, meeting the second and third criteria is not possible in respect of training since no matter how good training is, the management cannot guarantee the desired results. There are too many human factors.

Software

(a)
This asset (software) can be capitalized. Although software is usually an intangible asset, in this case it is contained on a physical substance, i.e. the machinery. In this type of scenario, HKAS 38 states that both the intangible and tangible elements should be treated in accordance with HKAS 16. Hence the software is capitalized as property, plant and equipment.

(b)
The capitalized costs is $60,000.

(c)
The estimated useful life should be three years. Although it appears that the software has a life of four years, the asset to which it is attached has a remaining life of only three years. It is not clear whether the software can be used after this time, and hence in accordance with prudence, the useful economic life is three years.

(d)
It is clear that the residual value is $0.

(e)
It appears that the asset will be equally useful over the next three years and hence straight line depreciation would appear suitable. The charge will be $20,000 per annum.

Research and Development

(a)
The Toogle
HKAS 38 states that expenditure on research (or on the research phase of an internal project) should be recognized as an expense when it is incurred. Hence no costs can be capitalized.

(b)
The Stalagmite
As above no research expenditure should be capitalized.

In order for development expenditure to be capitalized, all of the criteria below should be satisfied.

(i)
Technical feasibility

(ii)
Intention to complete and sell

(iii)
Ability to use or sell the asset

(iv)
Existence of market and generation of future economic benefits

(v)
Adequate resources available to complete

(vi)
Measurable expenditure

In this case it appears that (i), (ii), (v) and (vi) can be satisfied, but not necessarily (iii) and (iv). There are a number of uncertainties regarding the company’s ability to sell any of these products, and the potential profits or losses if they do. In this case, under HKAS 38, the expenditure should not be capitalized as an intangible asset.

(c)
The Dancer
(i)
This product meets the recognition criteria for capitalizing development expenditure as detailed in part (b) (the Stalagmite) above. However, HKAS 38 states that the expenditure incurred to be capitalized is that from the date when the asset first meets the recognition criteria. This was first achieved only after the competition of the business plan and cash flow forecast in January 2003.

(ii)
Hence only expenditure of $35,000 should be capitalized (the likely profits will exceed this easily).

(iii)
The estimated useful life is ten years.

(iv)
The residual value (with no information to the contrary) should be $0.

(v)
In this scenario, it would appear that the most representative method of amortization would be the unit of production method.

Total production over ten year = (100,000 x 5) + (60,000 x 5) = 800,000 units.

For each of the first five years depreciation should be 35,000 x 
[image: image1.wmf]000

,

800

000

,

100

 = $4,375

For each of the following five years, the depreciation should be 35,000 x 
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,

800

000

,

60

 = $2,625

13.
(a)(i)

Purchase of Brand X brand name

A brand name is an intangible non-current asset. Intangible non-current assets are covered by HKAS 38 “Intangible Assets”.

HKAS 38 allows purchased intangible non-current assets to be recognised in the financial statements, if it is probable that future economic benefits will flow from the assets and if their value can be measured reliably at the date of purchase. As a value has been given for the brand X, it is reasonable to assume that its value can be measured reliably. The brand name “Brand X” should be recognised in the statement of financial position at $220,000 at 31 October 2002 and amortised over its useful economic life of 10 years. $22,000 per year will be charged to the income statement.

The enterprise must carry out an impairment review at the end of the first financial year after the acquisition, and consider whether the performance of the enterprise, after the acquisition of the brand, has improved in line with expectations.

Internally generated brand names
Brand Z is an internally generated brand name. Some types of internally generated intangible non-current assets can be recognised in the statement of financial position if they meet specific criteria, however HKAS 38 specifically states that internally generated brand names should not be recongised as assets under any circumstances.

All expenditure will be charged to the income statement in the year it was incurred.

(a)(ii)

Purchased goodwill from Q
Purchased goodwill is the price paid over and above the fair value of the assets acquired.

	
	$000

	Assets acquired (including brand)
	493

	Cash paid
	523

	Goodwill
	30


Positive purchased goodwill of $30,000 will be recognised in the statement of financial position at cost at 31 October 2002. Goodwill should be recognized as an asset and carried at cost less any accumulated impairment losses and should not be amortised.
Increase in value of purchased goodwill
HKAS 38 does not allow goodwill to be revalued upwards, so no action should be taken on the directors’ valuation. Purchased goodwill will gradually be replaced by self-generated goodwill, so the increase in the valuation is due to internally generated goodwill arising since the acquisition. HKAS 38 specifically forbids the capitalization of internally generated goodwill.

(b)

HKAS 38 provides that:

The cost of the research phase of an internal project is charged to income statement in the year that it is incurred and the development phase expenditure must be capitalized and carried forward to future periods if it meets the criteria set by HKAS 38.

Phase 1 is a research phase and the $75,000 should therefore be charged to the income statement in the year ended 31 May 2001.

Phase 2 is applied research and the $192,000 should be charged to the income statement in the year ended 31 May 2002.

The $96,000 government grant is a revenue grant under HKAS 20 “Accounting for Government for Government Grants and Disclosure of Government Assistance”. The grant relates to the phase 2 revenue expenditure and should be matched it as long as all conditions have been met. All conditions have been met during the year ended 31 May 2002, so the income can be recognised and $96,000 can be credited to the income statement in the year ended 31 May 2002.

Phase 3 is a development phase and costs have to be considered alongside the HKAS 38 criteria for deferring development expenditure.

· There must be a clearly defined project; this is clearly the case with Y.

· The related expenditure must be able to be reliably measured. The cost has been stated so we can assume that it can be reliably measured.

· The outcome of the project can be assessed with reasonable certainty as to:

· Technical feasibility.

· Its ultimate commercial viability. It must be possible to demonstrate how the project will generate future economic benefits.

· There has to be an intention to complete the project.

The question says that Y is about to launch the new product, therefore it must be completed and is technically viable. We are also told that the product is expected to be commercially viable. Expected future revenues will more than cover the development costs plus future costs.

· Adequate resources exist to enable the project be completed and provide for any increase in working capital.

The question says that Y has sufficient for the foreseeable future, which could be assumed to mean that adequate resources exist.

Y’s new packaging products therefore meet all of the HKAS 38 criteria and Y must capitalize the development expenditure and defer the $223,000 to be recovered against the income generated by the new product.

14.
(a)

Goodwill:

HKFRS 3 ‘Business Combinations’ states that goodwill is the difference between the purchase consideration and the fair value of the acquired business’s identifiable (separable) net assets. Identifiable assets and liabilities are those that are capable of being sold or settled separately, i.e. without selling the business as a whole. Purchased goodwill is carried at cost less accumulated impairment losses and it must be tested annually impairment, and written down as necessary in accordance with HKAS 36 “Impairment of Assets”. HKAS 38 specifically states that internally generated goodwill (but not necessarily other intangibles) cannot be capitalised.
Other intangibles:

Where an intangible asset other than goodwill is acquired as a separate transaction, the treatment is relatively straightforward. In accordance with HKAS 38, it should be capitalised at cost and amortised over its estimated useful economic life (similar rules apply to the lives of other intangible assets as apply to goodwill as referred to above). The fair value of the purchase consideration paid to acquire an intangible is deemed to be its cost.
Intangibles purchased as part of the acquisition of a business should be recognised separately to goodwill if they can be measured reliably. Reliable measurement does not have to be at market value, techniques such as valuations based on multiples of turnover or notional royalties are acceptable. This test is not meant to be overly restrictive and is likely to be met in valuing intangibles such as brands, publishing titles, patents etc. The amount of intangibles that may be recognised is restricted such that their recognition cannot create negative goodwill (as a balancing figure). Any intangible not capable of reliable measurement will be subsumed within goodwill.
Recognition of internally developed intangibles is much more restrictive. HKAS 38 states that internally generated brands, mastheads, publishing titles, customer lists and similar items should not be recognised as intangible assets as these items cannot be distinguished from the cost of developing the business as a whole. The Standard does require certain development costs to be capitalised if they meet detailed recognition criteria.
(b)(i)

	The purchase consideration of $35 million should be allocated as:
	$m

	Net tangible assets
	15

	Work in progress
	2

	Patent
	10

	Goodwill
	8

	
	35


The difficulty here is the potential value of the patent if the trials are successful. In effect this is a contingent asset and on an acquisition contingencies have to be valued at their fair value. There is insufficient information to make a judgment of the fair value of the contingent asset and in these circumstances it would be prudent to value the patent at $10 million. The additional $5 million is an example of where an intangible cannot be measured reliably and thus it should be subsumed within goodwill. The other issue is that although research cannot normally be treated as an asset, in this case the research is being done for another company and is in fact work in progress and should be recognised as such.
(b)(ii)

This is an example of an internally developed intangible asset and although the circumstances of its valuation are similar to the patent acquired above it cannot be recognised at Leadbrand’s valuation. Internally generated intangibles can only be recognised if they meet the definition of development costs in HKAS 38. Internally generated intangibles are permitted to be carried at a revalued amount (under the allowed alternative treatment) but only where there is an active market of homogeneous assets with prices that are available to the public. By their very nature drug patents are unique (even for similar types of drugs) therefore they cannot be part of a homogeneous population. Therefore the drug would be recorded at its development cost of $12 million.
(b)(iii)

This is an example of a ‘granted’ asset. It is neither an internally developed asset nor a purchased asset. In one sense it is recognition of the standing of the company that is part of the company’s goodwill. HKASA 38’s general requirement requires intangible assets to be initially recorded at cost and specifically mentions granted assets. HKAS 38 states that both the asset and the grant can be recognised at fair value initially (in this case they would be at the same amount). If fair values are not used for the asset it should be valued at the amount of any directly attributable expenditure (in this case this is zero). It is unclear whether HKAS 38’s general restrictive requirements on the revaluation of intangibles as referred to in (a) above (i.e. the allowed alternative treatment) are intended to cover granted assets.
(b)(iv)

There is no doubt that a skilled workforce is of great benefit to a company. In this case there is an enhancement of revenues and a reduction in costs and if resources had been spent on a tangible non-current asset that resulted in similar benefits they would be eligible for capitalisation. However the Standard specifically excludes this type of expenditure from being recognised as an intangible asset and it describes highly trained staff as ‘pseudo-assets’. The main reason is the issue of control (through custody or legal rights). Part of the definition of any asset is the ability to control it. In the case of employees (or, as in this case, training costs of employees) the company cannot claim to control them, as it is quite possible that employees may leave the company and work elsewhere.
(b)(v)

The benefits of effective advertising are often given as an example of goodwill (or an enhancement of it). If this view is accepted then such expenditures are really internally generated goodwill which cannot be recognised. In this particular case it would be reasonable to treat the unexpired element of the expenditure as a prepayment (in current assets) this would amount to 3/6 of $5 million i.e. $2·5 million. This represents the cost of the advertising that has been paid for, but not yet taken place. In the past some companies have treated anticipated continued benefits as deferred revenue expenditure, but this is no longer permitted as it does not meet the Standard’s recognition criteria for an asset.
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